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1.   If f (x) = x2 + 2x + 5 and g(x) = x - 1, then f (g(x)) is 

       [1]  x2 + 3x + 4        [2]  x2 + 4               [3]  x2 + 4x - 1           [4]  x2 - 1  
 

2.  For which value of x is  f (x) = -65  given  f (x) = -3x2 - 2x ? 

     [1] 7                       [2] -7                    [3]  5                        [4]   -5 
 

3.  Which function is not one-to-one? 

     [1]  {(0,1), (1,2), (2,3), (3,4)}  
      [2]  {(0,0), (1,1), (2,2), (3,3)}  
     [3]  {(0,1), (1,0), (2,3), (3,2)}  
     [4]  {(0,1), (1,0), (2,0), (3,2)}   
   

4.  Which graph is not a function? 

       [1]                        [2]                        [3]                         [4]   

              
    
  

5.  If the domain of f (x) = 2x + 1 is {-2 < x < 3}, which integer is not in the range?   

     [1]  -4                     [2]  -2                    [3]  0                [4]  7 
 



 

 6.  If  f (x) = x2 + 4 and , what is the value of f (g(-3))? 

    [1]  13                            [2]  8                      [3]  2                   [4]   
 

7.   Which equation does not represent a function? 

     [1]  y = 2x                 [2]  y = x2 + 10         [3]  y = 10/x        [4]  x2 + y2 = 95  
  

 8.  What is the inverse of the function  y = 2x - 3 ? 

     [1]                   [2]            [3]        [4]   
  

9.  Given   ,  find  . 

     [1]  -5/3                     [2]  -5/18                [3]   -18/5                  [4]  -3/5 
   
10.   The function  f (x) = 3x - 7 is  
     [1]  one-to-one, but not onto 

     [2]  onto, but not one-to-one 
     [3]  both one-to-one and onto 
     [4]  neither one-to-one nor onto  

 

 

11.  The range of the function   f (x) = (x + 6)2  is  

     [1]  All Reals           [3]   [-6, ∞)     

     [2]  [6, ∞)          [4]   [0, ∞) 
 


